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QUESTION 1

Which option contains the essential components of the Oracle Cloud Infrastructure Notifications service? (Choose the
best answer.) 

A. An ALARM with a name unique across the tenancy, a SUBSCRIPTION, and a METRIC with the measurement of
interest. 

B. A TOPIC with a name unique across the tenancy, a SUBSCRIPTION, and a MESSAGE where content is published. 

C. A TOPIC with a name unique across the compartment, a SUBSCRIPTION, and a MESSAGE where content is
published. 

D. An ALARM with a name unique across the compartment, a SUBSCRIPTION, and a METRIC with the measurement
of interest. 

Correct Answer: D 

 

 

QUESTION 2

You have been monitoring your company\\'s applications running in Oracle Cloud Infrastructure (OCI) and notice that
the application is using OCI Traffic Management service. This service uses a traffic steering policy to distribute the DNS
traffic based on subnet addresses in a rule set. 

Which steering policy is in use in this particular case? (Choose the best answer.) 

A. Load Balancing policy 

B. Geolocation steering 

C. ASN steering policy 

D. IP Prefix steering 

Correct Answer: C 

Reference: https://k21academy.com/1z0-997/traffic-management-in-oci/ 

 

QUESTION 3

Your team implemented a SaaS application that requires a whole system deployment for each new customer. The
infrastructure provisioning is already automated via Terraform, and now you have been asked to develop an Ansible
playbook to centralize configuration file management and deployment. 

What is the most effective way to ensure your playbooks are utilizing up-to-date and accurate inventory? (Choose the
best answer.) 

A. Export an inventory list from the Oracle Cloud Infrastructure Web console. 
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B. Export an inventory list using Terraform apply command. 

C. Implement a Command Line Interface script to list all the resources and run it within Ansible to generate a dynamic
inventory list. 

D. Download the dynamic inventory script provided by Oracle Cloud Infrastructure and include it in the playbook
invocation command. 

Correct Answer: D 

 

 

QUESTION 4

You have ordered two FastConnect connections that provide a high availability connection architecture between your on-
premises data center and Oracle Cloud Infrastructure (OCI). You want to run these connections in an ACTIVE/PASSIVE
architecture. 

How can you accomplish this? (Choose the best answer.) 

A. Decrease the prefix length of AS for the FastConnect you want to use as PASSIVE connection. 

B. Enable BGP on the FastConnect that you want as the ACTIVE connection. 

C. Use AS PATH prepending with your routes. 

D. Adjust one of the connections to have a higher ASN. 

Correct Answer: C 

Reference: https://docs.oracle.com/en-us/iaas/Content/Resources/Assets/whitepapers/connectivity

redundancy-guide.pdf (5) 

 

QUESTION 5

You have created the following JSON file to specify a lifecycle policy for one of your object storage buckets: 
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How will this policy affect the objects that are stored in the bucket? (Choose the best answer.) 

A. Objects with the prefix “LOGS” will be retained for 120 days and then deleted permanently. 

B. Objects containing the name prefix LOGS will be automatically migrated from standard Storage to Archive storage 30
days after the creation date. The object will be deleted 120 days after creation. 

C. The objects with prefix “LOGS” will be deleted 30 days after creation date. 

D. Objects containing the name prefix LOGS will be automatically migrated from standard Storage to Archive storage 30
days after the creation date. The object will be migrated back to standard Storage 120 days after creation. 

Correct Answer: B 
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